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I T BA I AT A TE I 3 * 43 421 8 190 34 774 87.2 18.7 67.5 T BA I AT A TG 3 * 43 421 8 190 34 774 62.2 13.6 47.8
B 7229 1 428 5 739 13.1 3.1 9.9 B 7229 1428 5 739 13.1 3.1 9.9
PFREAY * 11 688 2 047 9531 22.5 4.7 17.6 PFREA * 11 688 2 047 9531 22.5 4.7 17.6
B = = MR % 5 207 939 4207 8.2 1.7 6.4 BT 2 = MR % 5207 939 4207 8.2 1.7 6.4
PEEEAR o = MR 11172 2131 8 882 18.4 4.2 14.0 DEERI = MR % 11172 2131 8 882 18.4 4.2 14.0
AT — e R - - - - - - AT Y — e 2R - - - - - -
AETEFH R B B N * - - - - - - AETEFH R B B E SN * - - - - - -
AR RE I RN 18 14 0.1 0.0 0.1 AETERERE M RSN 18 4 14 0.1 0.0 0.1
BEBEIIM RSN GR * 260 55 202 21.6 4.6 16.8 BEREAIHAHI NG * 260 55 202 21.6 4.6 16.8
E RIS RE RN * 64 13 51 1.1 0.2 0.9 E RIS RE BN * 64 13 51 1.1 0.2 0.9
FRAVAES TE) - DBLRE IR BRSO IS N * 2 2 - 0.0 0.0 - FRAAES TE) - DEUER B SIS N * 2 2 - 0.0 0.0 -
EAEVERBAER & =2 AINEL * - - - - - - EAEEFB IR &2 A NS * - - - - - -
PN 4124 896 3206 22.4 4.9 17.4 PN 4124 896 3206 22.4 4.9 17.4
JEAE AN 8 2 6 1.0 0.3 0.7 EAE AN 8 2 6 1.0 0.3 0.7
PRINERER T INE (1) * 0 0 0 0.0 0.0 0.0 FREMEREP 7 TN (1) * 0 0 0 0.0 0.0 0.0
FRIENERERY S AN () * = - = = - = FRENIE R NG (1) * 0 - 0 0.0 - 0.0
AR AR TR AN (1) A * 96 19 75 8.0 1.6 6.3 P— AR PLARE TR AN (1) A * 449 92 353 24.9 5.1 19.6
P AR TR AN (1) 7= 65 14 50 10.9 2.4 8.4 P— AR PARE TR AN (1) = * 96 19 75 8.0 1.6 6.3
H— AR TR AN (1) * 36 8 28 6.0 1.3 4.6 H— AR AR TR AN (1) * 65 14 50 10.9 2.4 8.4
H— AR TR LN (1) * 2788 501 2 257 10.0 2.6 7.3 P AR A RN () * 36 8 28 6.0 1.3 4.6
I B A E A (1) 173 33 138 0.8 0.2 0.6 IR B LB L EMR (1) 2788 501 2 257 10.0 2.6 7.3
IR BB S E N (1) 38 6 31 0.3 0.1 0.2 IRk B LB YGE IR (1) 173 33 138 0.8 0.2 0.6
St B AL SN (1) 4 1 3 0.0 0.0 0.0 IR B LB s N (1) 38 6 31 0.3 0.1 0.2
IR B LB SGE N (IV) 3 2 0.0 0.0 0.0 IR B LB SE N (V) 4 1 3 0.0 0.0 0.0
I HEN BB SE IR (V) = = = = - = IR B LB SE N (V) 3 0 2 0.0 0.0 0.0
T BRI IR AR i * 5704 868 4 682 5.8 1.0 4.6 T BRI i * 5 704 868 4682 5.8 1.0 4.6
PP AR I AR AR BREEIUR (BE D 7x) * 0 - 0 0.0 - 0.0 TRBEIRE AR I R AR BR R AL (R Be D7) * A0 - A0 0.0 - 0.0
[ BT R (B 72) * 0 - 0 0.0 - 0.0 % Pl R ORBED #) * A 0 - A 0 0.0 - 0.0
IR SR BRI O 4) * 0 - 0 0.0 - 0.0 IR R (BB O #4) * A0 - A0 0.0 - 0.0
B HRHIRE AT O &) * - - - - - - B FRGRE (I TT O &) * - - - - - -
IR BRI BR BT ( 1) (IR D7) * 0 - 0 0.0 - 0.0 I RO AR BRI (1) (= PEDA) * A 0 - A0 0.0 - 0.0
I R R (1) (r# e D #4) * 0 - 0 0.0 - 0.0 IR IREBR AR BB (1) (N EHEFEDH) * A 0 - A 0 0.0 - 0.0
TR UGBS RERE B *x 86 111 25 806 59 962 12.3 5.2 7.0 T B/ RS B RER B A+ 86 111 25 806 59 962 12.3 5.2 7.0
T B/ RS B RER B A+ 63 540 17 101 46 216 12.3 5.2 7.0 I T B/ NS B RE R B % 63 540 17 101 46 216 12.3 5.2 7.0
I TR HNR R * 55 15 40 0.0 0.0 0.0 T BE IR ARSI ek 55 15 40 0.0 0.0 0.0




